2N2°% 7"7 ' R,70 "2 70w

— RXAN XXAN IN RINT RINT AN IN 2N9%%
Let him write, either XX%77 RX%7 28 or NX»n X3%»n

OVERVIEW

The X713 explains that we can derive two MW¥A7 from X¥1n xun7,! for otherwise the
7170 should have written XX7 RXA7 or X¥An X¥HN, since the 770 wrote X¥An RXH,
we can derive two MwA7. Our MdOIN discusses the appropriateness of repeating the
same word twice.

- N99% ND9Y 233 (3,09 10p%) T2INNA 199 HNNR N20H DINYD /2 2INY XIDT INNINT $YUN
It seems that it is the manner of the ?%> two write the same word twice, and
similarly in %2177 P79 regarding 8595 X73; the X3 there assumes likewise —

mooIn asks:
= 9INRP (01 Hnnnn M7 ow 3,1 91 P11e) PPTIA PN YINIT YR

And there is a difficulty; for in the beginning of 15?713 177 P79, the X n2 states -
= NPNHN NPN N 6\’)1‘1‘13'\ YINTIN ananb 1Y Nnmnm smmm ‘290 2917 MY A9 22

Regarding the w''tx of 3w awsn, that the word 207 is ‘available’ for the "1,
since the 770 could have written, either @970 2197 or MpPnn NP -

=915 AVNA NINIATA NP NIV
Since the 702 changed the syntax by writing 2w, etc., therefore it is 7197 and we

can derive the w"1. This concludes the citation from the 8713 there.
= 399 NN XY Y90 AN N0 INT YNHYN

It seems from that X7, that if it would indeed be written in this manner of w117

"'We can use it for the 127 v "2 and to teach us %N 7P (by 12°1).
2 If it is unwieldly to repeat a word twice how can the X3 say that we derive two M7, since the P09 did not
repeats itself; if it is not common, why should the 109 repeat itself?!
? The xm3 there states that we derive two M7 from X9 X971 (that one must pay 19" even if he is paying P11 and
that MIRDI? X917 MW TIN°Aw 1R21). We can derive two mwa7 from X9 X971 for otherwise the 7710 should have
written either X957 X917 or X597 X957 (basically the same as here).
* The X3 there is discussing the seven m"pri (questions; like when, where, etc.) with which we probe the
witnesses. We derive it because in three places the 770 mentions the terms of 77°pn or 7w™7 (regarding ,NA7IT Y
112y and 1T 0*7Y), and all together it mentions it seven times and in all the places the word 217 is used to allow
us to derive one from the other through this w"13 of 2v°;7 and to require seven M°pr1 (by capital crimes).
3 Since these three cases are different from each other we would not be able to derive them from each other (even
through a ") and combine the separate amounts of MR to seven, unless there are extra words in the 0’109 to
allow us to utilize the w"73; this is the meaning of 719m.
% Instead of saying 2v1 nw1™, it could have said twice w1170 w177; instead of saying 2w’ napm it could have said
PAN P

1

TosfosInEnglish.com



2N2°% 7"7 ' R,70 "2 70w

VY170 or Mpnn PR, it would not be a9y -
- 595PM10 MPAN N WINT WIT IN ANY 199 1190 NI 711 SNIN ININ)

But why; it should still be 71122 (even if the 770 would write 21770 W17 or P

Mprn), because the 770 should have written 2197 2197 or MIPRN MPRN, as the X3
states here that instead of X¥nn Xx»n7 (which is like w770 w177) it should say Xxni &¥ni (which
corresponds to W17 W117).

Mo0IN answers:
- 'N92D AIING 199 PNRT DIYN NIN ) 90 PNRT 9D YN

And one can say; that indeed it is so (that even w1770 w177 is inappropriate, for it

can say 117 2117), however the X713 did not ‘descend’ to the depths of that logic -
$ (90 o127 I PN PIIVN P3N 12 HNIPN N1 MVYN PYY Y93 VPINY 1YY XN

And he is comfortable to mention a double expression which is common in
many places in the 770, like P%1¥n 25197 or 30N PINI.

SUMMARY
Occasionally the X773 is content with offering a sufficient explanation (which is
more popular) even though it is not the precise explanation.

THINKING IT OVER

MBoIN begins by saying that it 1s X727 X17IX to write the same word twice (without
bringing a proof to substantiate this''). N0 concludes that the &m3 in P70
chooses a W which is n">2 2w like pravn i, ete. Is there is difference
between Rp7 XM and Mwn NS (and why we choose one over the other)?

7 mooin can (seemingly) not possibly mean that it will be 739m for the "1, because the w1 is from the word 2v°7,
and we are now saying that it should not say 2v°7 nw2T, but rather just w1770 w117. Therefore NM501N means that there
is something superfluous here (which can be utilized for a 7w17). See (however) TM7n7 *w1on XX # 20.
8 moin question is that from that X% it seems that 27 nIpm is superfluous, it should have said ~pnn pm;
indicating that if would have said "prn Mpn it would not be 71191; however in our X713 we say that (even) X¥nn Xxni
is superfluous for it could say X¥ni7 Xxn7.
? All the X3 needed to say is that the syntax of the P09 could have been different (and the difference which the
X3 mentions is sufficient to make it 7191); however the X3 did not feel it necessary to be so exact as to what
degree the syntax can be altered to make it ;71191, rather the X713 chose a ‘popular’ syntax like p>1vn p2avi.
105 pomyo9 and 7.
"'We find 0773% 072K (in X°,20 PWRI2), oW owa (in 1,72 MAw), and WX WX (in 2,2 :7-3,1° X1p™), but no verbs(?).
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